
~ )Jlj : 1£ ~~3- ~1. ~ ~ ~ if. j.&. 

=t~~ 8 Jill : 12 A 3 8 (.£Jill~) ~ 1 ~r 17 *~, 

dy + 2y =0, yeO) =1 
dx 

2. (15% ) ~lt- T 71J~~1.i ro' ~ : 

d 2 ddX; + 2 ; + Y =0, yeO) =1, y'(o) =° 

3. (10%) ;~J1ttf(t)=2cos(t)+sin(t)+1 ~~1LA**~(Laplacetransform) F(s) 0 

4. (15%) ;~J1tt F(s) = 38 + 1 t¥J &.~i\.**~(inverse Laplace transform) f(t) 0 

+2s+2 

5. (20%) ;~ fuJ -I: J1tt F =x i + y j + z k ~1tt,1{(divergence)~~Jtli(curl) 0 

. , { 1, °< x < 1 ,6.(20%) 5R.!J!'llJ1ttf(x)= , f(x)=f(x+2) ~1t.rr. ,~tthlr~A 0 

0, -1 < x < ° 

c: Izl=2 

. , 


